No. of Printed Pages : 3

CE304 Roll NO: © issvisicsasssssisiones

2021
SURVEYING - 11

fuifa aa 14 W) [3ATereRan 3T : 70
Time allowed : 172 Hours | [Maximum Marks : 70
Pz () FURIE AFEE 8, 994 fE qt % Iw G |

Note : Question No. 1 is compulsory, answer any TWO questions from the remaining.

(ii) URIF 59 & G YT 1 FHAR T 1Y § Hilord |

Solve all parts of a question consecutively together.

(iii) T J9T H1 79 Y8 G IR FHord |

Start each question on fresh page.

(iv) ﬁﬁwﬁ#mﬁ#ﬁ@ﬁﬁﬁﬁwﬁm?;

Only English version is valid in case of difference in both the languages.

1. Frefefga & qed § gaemse
Explain the following in brief :
() Prigwde H g e

Trunion axis of theodolite
(i) e @
Traversing
(iii) =Rl 3TN
Degree of curvature
(iv) Sfemamdied femh
Tacheometric constants
(v) U TR 95 H 7 il
Mid ordinate in simple circular curve (4x35)

(10f4) P.T.O.
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5. ()
(ii)
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friteiemse & &ftst i A 6 g faft w1 avls AR |

Describe the repetition method of measuring horizontal angle with the help of
theodolite.

foreienge grr Y St g areft faft= gfiFnat = forfed |

Write down the various operations which can be performed with the help of
theodolite. (16+9)

foreft T % 1T 9 YT & 319 R wHe ¢ o i gEar & aneey |

What do you understand by the latitude and departure of a line ? Explain with the
help of diagram.

AT {1 g <1 Tt el HiRe |

Describe the methods of balancing of a traverse. (12%2+12%)

et § “fr ar fafy’ v fsfier a Ry 3§ 31w wy £1R0 |

Differentiate in between ‘fixed hair method’ and ‘moveable hair method’ of
tacheometry.

fepadied § Rfean yoreht 3 fagra # awemey |

Explain the principle of stadia system in tacheometry. (12%+12%)

T RrgaTse P o e foram mam 3t Q W@ e At @ 4 o e ARrE
I 9T 10°30" W77 7T | P @1 Q % sft= it &fot gft 2000 e 2 | 7f g
& HT GAMI T 2600 Hiet B 9t Q =71 Furia qt 71 HIRE |

A theodolite was set up at P and the angle of elevation to a vane 4 m above the

foot of the staff held at Q was 10°30". The horizontal distance in between P and

Q is 2000 meter. Determine the R.L. of Q, if the R.L. of instrument axis is 2600
meter.

weeH B3 & Ao ght w61 ffy T |
Explain the method of measuring horizontal distance with the help of subtense
bar. (12%+12%)
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6. Tafiy= wer % 3eu gs! & FuF 6 ggar § a9esd |

Explain various types of vertical curves with the help of neat diagram. (25)

7. () B aee fafy g fed fag Y, o snaw svm 2, a8 wE dfast gf
Y T 61 AT ; ST G TR Tk & FeateT T H 8 U ITH e H ae
3 Fgd A 2 |
How is the height and horizontal distance of a point, having base inaccessible is

determined by trigonometrical levelling method when both the instrument

stations are in the same vertical plane and the instrument axes are at very
different levels ?

(i) T HTURYT FAHR 5 % Freferfiaa segai #i fox $i aerar @ augsd

Explain the following elements of a simple circular curve with the help of neat
diagram :

(a) sl
External distance
(b) =5k <hl TS
Length of the curve
(c) < Sfran 6 was

Length of long chord (124+12%)

8. fam w wftra feoaforat fafied
Write the short notes on the following :
() PrEemse d gnadE g
Levelling head of theodolite
(i) TS g
Anallactic lens
(iii) TeHHYT 56

Transition curves (9+8+8)
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